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GEOGRAPHY '

(Honours Generic/ Regular)

For Honours Generic
Answer the Questxons from any one Optmn.

OPTION A

( Geography of India with reference to
N-E India)

Paper : GGY-HG-4016
OPTION-B
( Population and Settlement Geography )
Paper : GGY-HG- 4026
For Regular

( Geography of India with reference to
) N-E India) :

Paper GGY—RC 4016 =
Full Marks : 60
-~ Time : Three hours |
The Jigures in the margin indicate -
full marks for the questions

: Answer either in English or in Assamese,
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OPTION A

A Geography of India wtth reference to

N-E India)

Paper GGY HG- 4016/GGY RC- 4016

Answer the followmg questlons . 1x7=7

L~

R wwwm

(d

" (b)

@

(@)

Give the locational extent of India. * -

. '@mw‘mﬁasﬁefﬁm(wwm

mﬁm«m YD) |

Name the two umon terntones Wthh

.were declared in India ‘recently.

‘Wwﬁmmmw

ﬁwﬁ—mmmﬁm

In which season India gets maximum ..

amount of rainfall ?

_mﬁmwm @ﬁqﬁﬂl—ﬂ?

Name the “state of Ind1a havmg the

largest populatlon as per 2011 Census.

205 5 CFIRFTRIEET TCS OISR WiBiEeE
PR A AR T Bl |
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‘ (e} What is the sex ratlo of Indla as per
2011 Census ? :

: Qonwmwﬁﬂﬁﬂwﬂmwm
Wﬁ?ﬂ"ﬁ‘ﬂﬂ" -

) Name two east ﬂexlariﬁg rivers of .°
Peninsular India.’

WWW ﬁﬁ@ﬁmml

. (g) Name a wheat producmg state of IndJa
ST 93 (R %Qonvmﬁ ER A T

2. V. Wnte the following questlons in bnef

) , 2><4—8
oS, sgzas @@a-fr‘m 3

(a) As per 2011 Census, name the ‘two
dlStI'lCtS of Assam having hlghest and
. lowest population density.

io»mwwmfr’fwwﬁmw
B Was@féwmwwﬁﬁﬁﬂmﬁm ‘

(b) What -are the area coverages of India
' and Assam ? -

WWWW\%W?
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g T (e) “.Iron and Steel industries of India
(c) Name two trans—Hlmalayan tnbutarles : :

~of the river Brahmaputra ' . S | _”\95 CA = vm:fw STl
T{Wﬁ‘m 4. Answer any three questions from the
C | following : .- 10x3=30
. (d) ._Mentlon two main characters of T W ﬁ‘ﬂT (Rearat Fﬁﬁ‘)
monsoon. - -
@Eﬁ AW Eﬁf A hﬁl’@] W ?Rtl C . (a) DlSCLlSS about the major
_ _ physiographic systems of India and |
3. Write short notes on : (any three) S L their C‘haracteristics ' . 2+8=10
o | | 5%3=15 | 'ng-mwwwmiﬁm
oqc%‘mﬁms(ﬁzmﬁﬁﬁr) | ~.hﬁ®aﬁmw$zm ‘
- (a) Major physiographic region.of'ilncl‘ia i (b DISCLISS the mechamsm of Indlan
SIS 1Y gm’qsﬁﬂs-ww I monsoon
. (b) Weather characteristics of India . SR dﬂﬁﬁ W"F mmw
| =4t
oS TERITE Rﬁ%}

() Discuss the locatlonal sxgmﬁcatlon of

‘ thera attern' of India
(c i cy pattern N-E India and its influence on its

OIS AIOR RIS - . growth and development. 4+6=10

' (d) Forest cover of North-East Indla : ' Te3-sHfiwem sy S I SETDIF
/@@aﬁaamwmmf‘qﬁ- L RerR oves T e e s )
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(d)

Give an outlme of industrial systems ,

- of India and discuss.the factors

- influencing industrial development of

the country. 6+4=10

o SRR SRR o wier Al S

P SR R el ) SRR

@

WCFNF{TWI

_DlSCUSS the distribution and potential |

of petroleum resources of India.

@ﬁ@acﬁdm%mavv»maﬁﬁﬁsswsvmmﬂs :

.‘ﬁhmﬂammTawn |

Discuss - the technologlcal -and

~ institutional factors affectmg Indian
- agriculture.

ﬁﬂ@@aiﬁ%¢®$:wsﬁksaﬁﬁzm%¢‘6q1e$3$ﬁ

i awﬂ%krasﬁwm§<vm@wmnvmﬂaawml
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‘OPTION -B

( Population and Settlement Geography )

Paper GGY-HG-4026

. AnsWer the followmg questions by chéesing
- .the most approptiate option given against
.each quest10n :

1x7=7"

'153emmmaavﬁksiﬁs@NZMQﬁﬁ%@m°

(@)

‘Sex ratio’ is deﬁned as’

‘Fiest SIS’ tam |

(A) the number of females per 1000 -
~males in the population

EIS) booo%ﬂ?ﬁﬂﬁﬁ"@tﬁwmﬂm

" (B) the number of females per 10000

males in the populatlon

2if% 30000 T 55T ReIRICS FiReTi TR

~(C) the number of females per 100
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‘males in the population

. 2lf$ soo W s Refie REGERS

(D) the number of females per 10

‘males' in the population
2% o & 7w Rolfirs e wkam
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(b) When did ‘the ‘Natlonal populat1on

, pohcy come into effect?
R @mﬁtaﬁ‘aw‘a@ﬂwm% AT -

‘Wm?

LA 1994 (S>38)

. (B) 1986  (5»bv)

_(C) 2000 (3000),
o 2001  (3003)

(c)

Whlch of the followmg is not a push
factor of m1grat10n ?

| O IO A - Rt T =2

(A) Water shortage

(B) Unemploytnent

ﬁaagnw

- i(c_) Medlcall educatwnal facﬂmes

G/ B w

' (D) “Epidemic

| T
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hi

’

{d) Dunng which decade d1d the population

(e
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of Indla record negative growth rate ?

W@ﬂﬁiwwﬂswwwm
& oo OoifeE e o

(A) 1901-11 - (:ao'b-_b__b)
(B) ,1911—'21A- (3533-3))
(C)’ '1921-31 ..(bb'b\_’:—'\')b)
(D) 1931-41" '(53\95-8)).

Wthh of the followmg pairs is not twm

c1t1es ?

& I E%Iﬂ TR IS ﬂ'iﬁﬁﬁ "TQTI?
(A) 'Dell11—Ghaz13,bad

"(B) Hyderabad—Secunderabéd

YAMIRIM-(LFHRNG

(C) Kolkata-Howrah

- FETieRIeA

(D) Bengaluru-Mangaluru
ARATH -
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‘Which one of the following patterns. of

settlement is developed along either side
of roads, rivers or canals ?

'Wmﬂﬁ%whmmmm o 2

W ‘it?n’n@ 7 @9

() Square  (wfgR)

(B) tinear _'(-zaﬁas)

(C) Starlike ~A(W%
(D) Circular ’(cena;@sf%)

(g) ..‘Wthh of the followmg states of India

- has the least Percentage of urban

populatlon ?

Wmﬂwwﬁmaﬂ%w\m '

-"5&9"@ Wﬁﬁﬁas St
(). Sikim (R
(B Tripura ()

(C) Himachal Pradesh (fi‘iﬂﬁ 31'0'7“1)

(D) Nagaland (WT‘)‘IK?M)
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2.

Answer the followmg questlons in very short:

(@)

(b)

o

@

. 3'(Sem-4/CBCS] GGY HG 1/2,RC/G . 11

2><4 8

What is "populatidn pyramid’?- -

SR f‘sﬁrﬁv’ﬁw

What is meant by growth rate of
population’ ? :

W\ﬂﬁqﬁiﬁﬁﬁ {%ﬁﬁ?{\ﬁt?

Mentlon any two charactenstlcs of rural
settlement. '

- 8iny <R ﬁmzﬁf m%nm

What do you mean by ‘density of
population’?

W*«mw qﬁmﬁqm?

Write short answers of any three of the

followmg questions :

: Wﬁ’ﬂ”l‘é‘{@ ﬁmwﬁﬁmw@mm

- 5x3=15

(a) Define population geography ‘Discuss

its 1nter-relat10nsh1p with demography.
2+3=5
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. TEPRYT AR e SIS | SR

o %Wmmﬁamemwm

()

)

(d)

(e

‘ transition theory

ot |

Briefly discuss the basic differences
between rural and urban seéttlements.

mwaﬁwnﬁwﬁmm@m—m ‘

WI@TSNTWI

Hlerarchlcally arrange the urban -

settlements in terrns of their population,

ACENRA |

W\WWWWWWW

Dlstmgulsh between push factors and

- pull factors of migration.
A SRR Rt ﬂm e

mwwzm |

Briefly elaborate ‘the' stages as

hlghhghted in the demographlc

w\ﬂnﬁa@wﬁﬁwmml
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'10X3é30

4. Answer the following questions :
{a) Discuss the factors 1nﬂuencmg the

(b} .
: ‘ ‘populatlon change’ and growth in a

. .@WW
s R TR e i TR G5S 2o

d1str1but10n and den51ty of population
with spemal reference to the populatlon

density zones of India.

Wwawﬁmm

CWWWWWI
'. . Or/W?ﬁT

What are the major components of

o reglon ? Discuss in detall the factors
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- responsible for steep rise in populatxon
'of India since 1921.

3+7=10

GomenR. R Rz 953 R SR BRW@
' sifiefre (o BT TRl IR PR

wicas 9|
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Elaborate the meaning, scopé and

signiﬁc,ance‘ of settlement geography.

B . 3+4+3=10
L TS QU O SR e g qzeis
A e R

- Or'/AW"’

(d)

o

‘What do you . mean 'by

‘ context.

oY ' ‘rural
settlement’? Discuss different types of

rural settlement ‘with suitable diagrams

'

o T P B Jor Ao vy o

. SR BT ey <y

-Interpl_'_é} the Malthuéian' the;)fy of
population 8rowth 1n dé-tail '~'and

examine its appli

-7+3=10

RSN
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2+8=10

gabﬂity in "preSent—da'ly '
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or/ w4

‘Write ‘a brief note on rural to urban

migration. Discuss different demographic

~ and socio-economic impacts of migration

in a country. - 3+7=10

SR o GRS SR i

SIS TR GRS T oK
IS A | -
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